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1. Uwpwip

1 2 3 4 5 6 7
14221000  jywy PCUL Ug 4 000 20 000 5
14200000  [QGrwikap X X X 20 000 X
18141000 |ébrlngltp pwOynpwlwl rCUL hwuwn 200 14 000 70
18141000 jdatrOng nibhybpuwy PoUL qnig 250 12 500 50
18114000  fwouwunwlpuyhO Undphbhgnl PCUL hwuwn 30 000 900 000 30
18100000  |QOnwikOp X X X 926 500 X
18424300 | dtlwhquwdjw oginwgnpdiwl dtrlngltip rpul wintth 3400 34 000 10
18400000 |DGnwikOp X X X 34 000 X
19641000  {wnph wnnwpwybp ne wwpybp [a]al¥7S hwin 10 10 000 1000
19600000  |DOnwikOp X X X 10 000 X
19722000  {pwpdp wipnipjwb phitp /ynsh/ [2]a]UT4 hwiwn 500 5000 10
19700000 |[QOnwikOp X X X 5 000 X
22212100 jwwnpbpwlw hpwwwnwynudibp RrLUL “pwd 45 000 45 000 1
22211100 jwwownnlbwywl wiuwgpkp pRUL Npwd 40 000 40 000 1
22211000 |pbppbp PLUL Npwd 40 000 40 000 1
22200000  |COnwdkGn X X X 125 000 X
24211100 [ghUuh opuhn pLUL an 3.5 350 100
24211300 | wnhwhwh opuhn rEUL qn 2.5 250 100
24212100 | ppndh opuhn POUL qp 5.5 550 100
24212200 |dwGqwah opuhn POUL ap 2 200 100
24212400 |wnldéh opuhn [a]a]VV4 an 7 700 100
24212500 |dwglbtghniih opuhn rOUL qp 2 200 100
24212620 |dwGqwih hhnopuhn [a]a]UT4 ap 2 200 100
24212650 |dwqlbghnish hhnnopuhn PLUL an 2.5 250 100
24213000 [Ywighntth hhnpopuhn CaO->Ca0OH POUL an 2 200 100
24221000 |Gkpybint Epunpwyunbtn PCUL "pwd 50 000 50 000 1
24223000 |wwlbhGlGn PLUL Yg 10 000 10 000 1
24224000 |gniGwynpnn Gjnupkp [2]a{FT4 pwd 50 000 50 000 1
24200000 |COnwdkGp X X X 112 900 X
24310000 | oppndnudnpwywl pent ProUL Lhwp 2 100 31500 15
24311180 jwnwgwé §&nudp /nbnht thnoh/ PLUL qn 1.5 150 100
24311411 | 660pwiyuil ppnt PLUL |pup 1900 3800 2
24311521  {Ywniuwinhy unnw POUL g 700 1400 2
24313210 {Owwnphnidh hGhuwdbinwdnudwin PLUL qn 2 200 100
24314100 {ywihnidh whpdwbgubuin PoUL qp 4.5 450 100
24316000 |[pnpwé onin PLUL thwp 500 2 000 4
24321222  jwnnning pPoUL Lhp 2000 2000 1
24321223 |o-puhinj poUL thunp 2500 2 500 1
24321224 |d-puhing [a]alST4 Lhwp 2500 2500 1
24322220 |tpwlng PoUL {pwp 1500 3000 2
24322310 [kphikOgihyni PoUL (hup 2000 2 000 1
24323210 |pwgwuwppnt LouUl thup 1000 200 0.2
24326000 [gthgkph( PLUL Lhuip 1500 150 0.1
24300000 |QOnwikGp X X X 51850 X
24413100 [htnniy winbhwly eeul Lhunp 1000 2 000 2
24452000 |dhowwnwuwwib Gintebp PrRUL Npwd 170 000 170 000 1
24400000 |QOnwdkGp X X X 172 000 X
22816000 |GonuiGbph wikuinp [2]a]¥t4 hwun 1550 7 750 5
22816100 [Gnpwwnbnpbp PLUL hwun 260 52 000 200
22813000 |hwpyywriwd gppbp PoUL hwun 430 4 300 10
22841200 [wybn [2]a]VT4 thwptp 660 5280 8




8 250

22851000 Jwpwqwlwp unnyuwpuwpnpb POUL hwuwn 55 150
22852000  |pnpwwwiwylbn /puhwOghly/ PoUL hwun 55 3 300 60
22852000 ° |pnpwwwiwlyatn /Swybpny/ PRUL hwin 720 36 000 50
22852000 |pnpwwwOwlyitin /rbEghlb wopwybtpnu/ PoUL hwn 210 2100 10
22800000 |QGnwdkOp X X X 118 980 X
30192121 lglnhlwdnp gphs roUL hwun 83 14 940 180
30192130 jdwuwnhwnltp PLUL hwin 37 3700 100
30192125 ° |plngénn tGwpybpttp PLUL hwuwn 350 7 000 20
30192125  [UHwdwrwlh Ypw gpwenidlnh hudwn POUL hwtn 220 2200 10
dwnpltpbbp
30192770 | wjwuwpphl PLOUL wnnwh 600 1800 3
30197630 |pninp nwhslbph hwdwp A4 PCUL nnth 1800 180 000 100
30199230 {6pwnltip /pnpha/ POUL hwun 30 3 000 100
30199200 | dpwplbip PLUL hwn 60 3 000 50
30199200 | é6pwpltp [2]a]V74 hwn 150 7 500 50
30199200 | spwplbp PRUL hwwn 290 29 000 100
30192160 |>uphlulbn PRUL hwuwn 220 5500 25
30197220 |pneh wipwybbp PRUL wnnh 40 600 15
30197221 [wipwlbbp ubndhsny PLUL wnnuh 235 1175 5
30197110 |ywphsh dEnwnwiwpt Yuwbp [2]a]UT4 winih 70 3 500 50
30197320 |YwphsGbp PLUL hwn 710 1420 2
30141200 |ubnwlh hwpyhsbbp [2]a]V14 hwn 2 500 5000 2
30192710 |unuh(d, pnph, unjwnwpenph L nnbpunhih rouUL hwin 155 15 500 100
30192350 |Mw2dhennwdwnlnwihl dtpGawGGRD POUC hwn 190 57 000 300
dwwwdbibbp
30199110 [wwuwndbhwhwlnn pning PLUL wnnith 1000 1000 1
30192100 |rGwnhGGEp RLUL hwun 110 3300 30
30197210 |PPWHWOLYGEN, nnntin pnpting dhwigyn.d &G POUC hwtn 570 5700 10
onwlyGtpny
30199792 |opwgnughn PoUL hwuwn 2 500 50 000 20
30192114 |pwlwp, 2unwdwh, pwpdhUh RLUL hwun 130 390 3
30191140 {w0dh hwuwnnwundwl wwpwquwbkn PrLuUL hwn 100 1000 10
30192133 |uphstbp [2]a]Vl4 hwun 150 750 5
30197340 |wwwlwphslbp [2]a]UT4 hwun 250 750 3
30199760 |whwwylbp PLUL hwuwn 350 3 500 10
30199760 |whwwylbtp rOUL huwwn 30 36 000 1200
30199420 | pninp GynuiGGph hwdwnp PoUL wintth 300 3 000 10
30199500 |wwhbuwnwdnpiwb wplnbn [a]al¥7S Opwd 550 000 550 000 1
30192127 [gpswunihbp Ul hwtn 500 2 500 5
30100000 |CGnwdklp X X X 999.725 X
30213300 |ubnwlh hwiowywnaghsbtp [a]a]¥T4 pwd 276 000 276 000 1
30234400  [nuwnwny uyuwywewly, wewig ninwhh, DVD [2]a]874 hwun 140 8 400 60
30234300 [nwinwipy uywywnewy, wewlg wninwhh, CD PQUL hwn 100 4 000 40
30234600 |31b2 hhonnnupniblbp PLUL hwun 5000 75 000 15
30200000 |QOnwdkln X X X 363 400 X
31214200 jwlbowwnhs-quinhs 1 unbnlny PLUL hwuwn 600 18 000 30
31214200 |wlowwnhs-quinhs 2uinbnlny [2]a]UT4 huitn 600 6 000 10
31200000 |QOnwdbkGp X X X 24 000 X
31321200 [gwép L dhohl jwpdwl duwyntjultin [ajalive ubiunp 300 105 000 350
31300000 |CGnwdkGp X X X 105 000 X
31441000 [dwpwnynglbip, AA inbuwyh LRUL hwn 100 1500 15
31441001 fdwpwnynglbp, AAA inbuwyh PLUL hwitn 100 1500 15
31400000 |CGnwdkap X X 3 000 X
31518600 |ninnnpndwé (nuuny (nuuwpdwly PRUL hwiwn 11 000 550 000 50
31512200  jjuwiw 60w wlnpwnwpdhsny LU huwin 500 50 000 100
31512200 jjwdw 20w @ 5100 POUL hwwn 600 6 000 10
31512200 |jwiy 20w © 3504 PLUL hwuw 550 5 500 10
31519100 1ohywgdwl jwiy L9841, D51d4d. E27 PLUL hwun 240 2 400 10
31519100 johywgdiwl jwaw L6504, D22ud. E14 PLUL hwun 240 2 400 10
31532110 _ |ynidhlbiugbluwn jwidwy’ tnnwp, 120 ud POUL hwuwn 650 6 500 10
31532110 {pynidhlbughkluwn jwiw’ 80ud [2]a]UT4 hwtn 700 7 000 10
31532110 |ynidhbbughbbunuihl jwiw 30ud, 8w PRUL hwwn 2500 25 000 10
31531000 |ibn jwdw 3w, E27 POUL huwin 3000 15 000 5
31531000 |ibn jwdiw 3w, E14 PLUL hwun 3000 15 000 5
31531000 |ibin qwiw 3w, G4 PLUL hwtn 3000 15 000 5
31531000 |t qwiw 7w, GU10 PrOUL hwwn 5 000 100 000 20
31532400 |jwdwtph Ynpwrltp Yepwdhyuwlwo E27, F19 PLUL hwuwn 500 2 500 5
31524100 [intuwinnt (nudhG. judwh 80ud PRUL hwn 3500 35 000 10
31524100 |intuwwnnt (nudhl. jwdwh 30ud, 8w PRUL hwun 2 500 25000 10




31532000 [1nudhl. jwdwh dhwthnfuhs 40w PLUL hwun 1500 15 000 10
31532000 jhwingbl jwdwh duwihnfuhs 220/12 VT ProUL hwuwn 1500 15 000 10
31532610 - ||nuihGbu. Jwdwbph npnubi Gep PRUL hwtn 1500 15 000 10
31532510 _ [jntdhlbu. jwiwbiph uinwpunbpbtbp [a]a]¥T4 hwin 250 2 500 10
31500000  |QGnwdkGp X X X 909 800 X

35126300 |wlywnwlgnipwi nkuwlughyltip [a]a]vT4 Apwd 1 980 000 | 980 000
35100000  |DGnwdkOp X X X 980 000 X

31684200 * IJwpnuwy;Bpyplbrwah [a]a]¥t4 hwwn 600 30000 50
31684300 [Jwpnuwl, Epypltinwih, wpinwphl PLUL hwun 600 6 000 10
31686000 Jtupng [2]a]VT4 hwun 200 6 000 30
31651000 Jabyniuhs dwwwykGobn PRUL hwuwn 130 3 900 30
31681600 | bjbyunpwywl wwwhnyhs POUL hwun 9 800 9 800 1
31600000  |DOnwdkln X X X 55 700 X

33711460 [wldbenghy [a]al¥te wnnh 400 10 000 25
33764000 |pnpb whdkrnghlltn [a]a]VT4 wintth 1300 32 500 25
33764000 [pnpb wdtrnghlltp pug RrOUL huwin 100 6 000 60
33764000 [pnpb wldkrnghyttn PoUL hwun 100 4000 40
33761000 |rninbny, gniqupwih pninp [a]aV%e hwun 100 120 000 1200
33711720 lwwnwih dwénilylbp PLUL hwn 300 1500 5
33700000  |DGwdkOp X X X 174 000 X

37810000 [abrph woluwwnwlplbph Gnipkn PoUL Apwd 68 000 68 000 1
37800000 |DOnwdkGp X X X 68 000 X

37823000 |gnyOwdnp pninp A4 PrPUL hwiun 30 21 000 700
37800000  1QOnwikln X X X 21 000 X

38427000 [hnuwlph swihiwl uwpp /inkunkp/ PRoUL huiin 7 000 7 000 1
38400000  |QOnwdkln X X X 7 000 X

39154100 [gnigwhwlntuh unklntp RoUL pwd 500 000 500 000 1
39100000  |DGnuwdkGp X X X 500 000 X

39224340 |wnpwnlynbp [a]a]UTe hwn 6 500 19 500 3
39200000  |QOnwdkln X X X 19 500 X

39525100 [thnont hwywpdwh YunnpGbp PoUL pwd 1250 6 250 5
39525800 [dwppnn Yunplbp /wwjwlih Swppnn/ [2]a]UTS hwun 900 36 000 40
39525800 |dwppnn Yuinplbbp /hwwnwlyp dwpepbind/ PRUL hwn 540 27 000 50
39525800 [dwppnn Yuinnpltp /unwppbp swithubph/ POUL Apwad 22 500 22 500 1
39500000  |QOnwdikGp X X X 91 750 X

39714000 | onwihnjudiw( L onwpw) uwnpbn POUL hwin 5 000 25 000 5
39721510 [opwinwpwgnighs LPLUL hwun 90 000 90 000 1
39700000  |OOnwdkGp X X X 115 000 X

39831241 jo&wn RLUL hwin 240 24 000 100
39831245 |dknph hbnniy odwne [a]a]¥T4 hwuwn 300 15 000 50
39831245 |atnph hbnniy odwn 5 POUL hwuwn 2150 4 300 2
39831242 _|;1ywgph thnyh dGrpny jJwlwnt hwdwp rLUL Yhyngpw 850 85 000 100
39832000 [uwwuph (Ywgdwl hbnniy PPuUL 1hunn 200 12 000 60
39832000 Juwjwuph |Ywigdwl hbnnuy PPUL Lhwp 1100 11 000 10
39812400 [wwwyh dwpptini hbnny a]alT4 Lhup 300 12 000 40
39831600  |whuwnwhwinn htnnil [a]a]VT4 hwun 800 32 000 40
39831600  Jwuwwhwng thnoh RPLUL hwuwn 280 16 800 60
39831300 Thwwnwyh dwppdwh Ginipkp POUL Apwd 70 000 70 000 1
39836000 |k PLUL hwtn 700 14 000 20
39839000 |gnquiphwy [a]a]ule hwun 1400 11 200 8
39812100  |hwuwnwyh dwunhyw PoUL yhngpwd 1200 12 000 10
39811300 [hnuwgtipénn dhongltin [a]a]VT4 hwun 370 18 500 50
39831700 | o&wrh wywnndwn nhuwkGubpbbn PoUL hwuwn 3 000 3000 1
39800000  1CGnwdkOp X X X 340 800 X

42661000 |qnnuiw( wiwg PoUL gpuy 5 1000 200
42600000 [QGnwikOp X X X 1000 X

44191400 |uyunwpbiwhb uwbpn /UND/ PCUL hwwn 37 000 148 000 4
44112230 |{hGnjtinid poUL d.p 1500 12 000 8
44111500 jobynupsbbp b deyniups Gbpnhpbbp PoUL dtunp 250 25 000 100
44111400 {0Gpyap PLUL Lhup 1000 30 000 30
44111200 |ghukOwn [a]a]¥T4 wuwny 2500 50 000 20
44111800 Juwihlyh unuhbé LrOUL wwpy 50 000 50 000 1
44111800 |ghwuwih( dtihwiwéhy POUL pwd 40 000 40 000 1
44111540 |ubynwups wwwyhlbp PLUL pwd 28 000 28 000 1
44174000 |Oppwphpbnibn [2]a]VT4 hwun 70 500 564 000 8
44192000 [hnywpninp ProuUL dkwp 1500 12 000 8
44192000 |hnywpeninp /76*457" N 40, 60, 80, 100/ POUL hwtn 2 000 30 000 15
44192000 [gnibwl)nip poul hwwn 2 000 10 000 5
44100000  |QOnpwiklp X X X 999 000 X

42968200 | hhghtilhy wwpwgwatiph nhuwkGubpitp PoUL hwuwn 14 000 140 000 10




44100000 Lonqwikip X X X 140 000 X
44221200 | nrlbtp (24 Inwad 2 600 000 2 600 000 1
44212510 | walynibbep (24 gbwn 1 000 100 000 100
44200000 QOanwakin X X X 2 700 000 X
44316400 |»yb)bip /60/ PLUL hwuwn 4 000 56 000 14
44316400 |Gpywpiw wpunwnpulp: PLUL dbup 450 9 000 20
44300000  |QOnwdkOp X X X 65 000 X
44423220 ° | 6wiynn wiuwnh8w /wyntdhbb 2,56/ poug hwun 10 000 10 000 1
44424200 _ [Yuysnib dwwwybOotp /uynuns pnphg/ a]a]vts hwun 300 6 000 20
44424200  [Yuysnil dwwwdbhobp /uynuns pnphg/ rLUL hwun 650 6 500 10
44424200 |4uysnil dwwwigbiGatp /uynuns pnphg/ PLUL hwn 1300 13 000 10
44411740 |qnigupwlwynlp ProUL hwn 25000 50 000 2
44411300 |1JwgwpwbGkn PLUL hwuwn 25000 50 000 2
44423000 |qulwqwl wwpwguwltin poul huwin 120 3600 30
44425000 | onwyltp, dshownhpltn, PoUL huwn 300 3 000 10
44425100 | wewdqulywl onwylbp PLUL hwn 2 500 25 000 10
44410000 | wwnwbpltp |nnuukjwyh b funhwGngh hwdwp Poul hwun 2500 25000 10
44400000  |CGnwdtan X X X 192 100 X
44523200 jwipwylbn POUL wntth 3000 18 000 6
44523200  [wdpwylbp /fuwdnun/ rOUL wnnith 3 000 30 000 10
44511000  [quulwy GEpYwpwpwlywl PLUL hwn 1200 12 000 10
44531510 |wwniinwywdtiju /4*16, 4*20, 4*30, 4*40, 4*50/ pPOUL hwuwn 10 50 000 5000
44531300 {nnipb| tnwppbip swihubph PLUL hwun 8 4 000 500
44512910  {quyhynGh uwiptip PLUL hwtn 580 34 800 60
44500000  [DGnwikGp X X X 148 800 X
44810000 |Gbputp PRUL {htnp 15 000 45 000 3
44812200 |jniqwltpybp L opwbitpytip PLUL Lhwnp 4 200 126 000 30
44832000 ||niéhslbp PRUL T 2900 29 000 10
44800000 |DOnwiklp X X X 200 000 X
44912200  |(wydwquwpwnp /2tpkG/ ProUL wwply 300 30 000 100
44921100 [ghwu PLOUL wwpy 2900 8 700 3
44912200 |>hlwpwpwywl Yuwniun wwg [a]a]¥Te wwpy 300 18 000 60
44912000  {qulbwguwl 2hGwpwpuwlwi pwnpkn PLUL hwun 300 6 000 20
44900000 QGnwdkOp X X X 62 700 X
QOnwikop wuypwip 10 862 505
2. Uthuusuue
1 2 3 4 5 6 7
45111100 | pwlniwl wytuwunwbpGp POUL Npwd 100 000 100 000 1
45100000 Lhnuwikop X X X 100 000 X
45261910 | vwwbhpltph yepwinpngiw( wpluwwnwbpltin rLUL Apwd 70 000 70 000 1
45211310 JuwbGhwOgnigh 2h0. wyluwunwbplbp PRUL pwid 300 000 300 000 1
45236290 |MWbquunh tnwpuidpltinh Ypwlnpngid POUL Anwd 200 000 200 000 1
w2 luwinw i plbn
45200000 [CUnwdkOp X X X 570 000 X
45311000 |LEUNWUWE (winiph L uwinptiph tntnuinpdwa POUL Anwi 25000 25 000 1
wrluwwnwbplbn
45331210 |OMHhniudwd uwnptinh intnuinpdw POUL Apwad 200 000 200 000 1
wrtuwuinwbplbp
45300000  |COnwikGp X X X 225 000 X
45442100 {wwuwnbph GEpYiwl woluwwnwbpltn PoUL Apwd 850 000 850 000 1
hhdGwywa yepwinpngiwb L
45453000 JbPWlWhaGnWyWE whluwnwGplEn i Apwd 900 000 900 000 1
45400000 |COnwdkap X X X 1750 000 X
Conwuiklp wouwwnwip 2 645 000
3. Ownwjnipjntl
1 2 3 4 5 6 7
50313200 |Hwindtlwhwinn uwnpGnh wwhujwbowd pOUC nwd 280 000 280 000 1
SwrwinipinlbOtn
50300000 |QOnwikbp X X X 280 000 X
50413200 |"WUwhnaGhwhG uuinptiph Yanpwinpngdwt L POUC Apwd 600 000 600 000 1
wwhwwbiwl weuwneintlibp
50400000 ClOnwiklp X X X 600 000 X
50610000 |WOUIWlGNEIWG uwnetinh Yanwinpngiw L POUC Apwd 560000 560 000 1
wwhwwadwl dwewinipintGbtn
50600000 |QOnwikap X X X 560 000 X
51111100 |°H"Nwhih awndhsh intnuinpdwd pOUL Anwd 240 000 240 000 1
SwewinpintOabp




51100000 [Chnwdklp X X X 240 000 X
ninunpwihnjuwnpnn wywnndbpkOwobph

601710 d 60 000 60 000 1

. Jwpdwywinipintd® Jwpnpnh htwn dhwuhG RCUL Inu

wwnwlpbtiph nbnuidhnfudwO tnpwbuwnpuwh

60180000 [dhonglbph updwlwinipgnih * Jupnpnh hbwn PCUL Apwd 90 000 90 000 1

. dhwuh( :

60100000  |COnpwitln X X X 150 000 X

63512000 |MAubnh"quwéiingh L dwdthnnrniginiGitnh < Apwad 2197 000 2197 000 1
Yugiwybtpnwiwi swewnipinltbbp

63500000  |COnpwutln X X X 2 197 000 X

64211000 |hwhpuyhl hrwiunuwih( Swrwnupjntbbbp PQUL Npwid 788 600 788 600 1

6420000 |COnpwdbklp X X X 788 600 X

65310000 [biGYwnpwywonipuub pwofuncd UL pwd 7 191 800 7 191 800 1

65300000  [COnwikGp X X X 7 191 800 X

72411000 |hOwnGpObun Yuwwh dwrewynipiwd derpbpnid PRUL Apwd 408 000 408 000 1

72413000 |<9NN9ENN dhnniw| puibgunwls Yuyptoh mp Apw 3500 000 3500 000 1
wpnhwwiwgiwl swrwinipjwt dGrppbpnid

72415000 |Nwdwowlguynl tetinh uwwuwnywowd mpo Apwd 34 000 34 000 1
Swnrwnipjwl dGrppbpnid

72400000  |OGRwdklp X X X 3942 000 X

79530000 |pwpgiwlnpiwb swewnipg)nlltbp roUL pwid 1 000 000 1 000 000 1

79500000  |CGrwiklp X X X 1 000 000 X

79632000 |W2MuunlnglERh Yenwuwinpwundwd POUC Apwd 45 000 45 000 1
SwnwinipnLGObp

79621000 |W2Muwinwlhglnh hudwindul Swewmipinbltn) oy o Apwad 90 000 90 000 1
lgnpSwlwinipjwulb dhongny/

79600000  |COnwiklp X X X 135 000 X

79711000 |Wanwbawlwht hwawlwngh dhongny POUC Apwo 60 000 60 000 1
huynnnipjwl dwewinipiNtGGhEn

79700000  |COnwdklp X X X 60 000 X

79824000 |«CBUquhp IV-IIl £ w. hwawnwdjwltenh o< hwn 8 000 4000 000 500
tpwyniyp» ghpp Yunwing

79824000 |¢<Wuutnuilh dhelwnuinuil fubgbannompniln’ | 7o hwitn 3 900 3900 000 1000
Wha, UGh» ghpp Ywinwing

79824000 |“Wuwlwl tnwinwg 18-19-nn nwn» ghne < huwtn 3400 3400 000 1000
Juitnwing

79824000 |«<uiing Uuwipuipunwpbtipp» wnwy | Uth (24 hwwn 4 000 4 000 000 1000

79824000 |M4e (4 4.p 11 000 874 500 80

79824000 |wyntynpnln (74 d.p 33 000 891 000 27

79824000 |pwllbp (24 4.p 6 500 487 500 75

79824000 |nintignijgkip (224 hwn 275 550 000 2000

79824000 {ppnojniplbp (24 hwuwn 1166 349 800 300

79800000  [DGnwikip X X X 18 452 800 X

90511000  [wnph hwdwpdwl swrwjnipiniiObn PCUL pwd 668 272 668 272 1

90500000 |COnwikln X X X 668 272 X

90921000 |WMuunuhwiliuil L dwlupny6ltinh nylzugduwd POUC Apwd 156 000 156 000 1
swinwnipInLbitn

90900000  {DGrwiklp X X X 156 000 X

Lonwikap Swewynipnta 36 421 472

LOnwikip wwpwlbp, wuwwnwip L Swewnipintl 49 928 977
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